Lab Grading Criteria 
See http://www.sjsu.edu/faculty/gerstman/hs167/lab_notes.htm for notes and explanation. 
Lab 1: Sampling a Population and Entering Data [5 points]

1. Every student must have their own unique SRS. 

2. Undercoverage and other forms of sampling bias should be absent.
3. Variable names must be exactly as specified.

4. Data must be entered accurately
5. The file name must be as specified.

Lab 2: Stemplots and Frequency Tables [5 points]
1. (1) Stemplots are accurate and interpretation reasonable. 
2. (2) SPSS output has been reviewed and annotated by the student.
3. (3a) Hand tallied frequencies (including relative & cumulative freqs) are accurate
4. (3b.) The SPSS frequency table is clean. 
5. Free point.

Lab 3: Summary Statistics and Boxplots [5 points]
1. (1) Hand-calculated sample mean is accurate (check against SPSS).

2. (2acd) Check deviations in the table for accuracy.
3. (2cd) Check the variance and standard deviation for accuracy (use SPSS output).

4. (2ef) Normal rule and Chebychev’s rule.
5. (3) Check quartiles against Tukey's hinges (use SPSS output) 
Lab 4: The Binomial pmf [5 points]
1. (1&2) Binomial parameters, mean and standard deviation properly identified. 
2. (3&3) The binomial coefficients and probabilities properly calculated.

3. (5) Bars are properly shaded. 
4. (6) Cumulative probabilities calculated; Pr(X <=1) properly shaded.
5. (7) Pr(X > 1) calculated and shaded properly.
Lab 5: Normal pdf [5 points]

1. (2abc) Horizontal axis labeled properly; all parts completed..

2. (2d) 68-95-99.7 rule understood

3. (3) z-scores understood 
4. (4) All steps of determining Normal probability demonstrated; principal of complementary right-tail understood and demonstrated.
5. You must start your HW assignment in lab and make “significant progress”  (as defined by your lab instructor)
Lab 6, Part A (Q1 – Q3): Introduction to Inference [5 pts]
1. (1) Student demonstrates understanding of difference between xbar and mu.

2. (2) Student is aware of empirical SDMs mean, standard deviation & shape.
3. (3) Student is aware that values greater than 38 from this SDM correspond to the right-tail of xbar~N(29.5, 4.3), and that this AUC is 2.5%.

4. (4b) Student calculated the CI correctly.
5. (4c) Student aware that there is not a 100% guarantee that their CI will capture mu.

Lab 6, Part B (Q4 & Q5): Introduction to Inference [5 pts]
1.  (4aefg) student uses their sample mean for the CI; adjusts the z critical value to change confidence levels, and is aware that CI width increases with the need for increased confidence.
2. (4cd) Student is aware there is no guarantee that their 95% CI will capture mu.

3. (5ab) Hypotheses set up correctly; test statistic correct.
4. (5cd) Curve shaded properly corresponding; correct one-sided and two-sided P.

5. (5e) Proper jargon applied to P-value result.

Lab 7: Inference about a Mean [5 pts]
1. (1) t distribution curves are marked and shaded accurately
2. (2) Hand calculation of CI is accurate (check against SPSS output).
3. (3) Here are revised instructions for item 3: Start SPSS. Use File > Open > “LnameF10.sav” to open your file. Then use analyze > Compare Means > One-sample T test > Test variable = AGE to calculate a CI for your mean. Navigate to the output window and review the confidence interval. Ignore the test statistics (t, df, and Sig.), because the assumed “test value” (i.e., mu_0) was set to 0. Print your results, cross-out the test statistics, circle the sample mean and confidence limits, and write the formula for the confidence interval on your output. 

4. (4b) DELTA values properly calculated and stem-plotted.

5. (4e & 5) t test properly calculated and sketched, results match SPSS output
Lab 7B (not graded) included the completing of item 6 and several paired t tests on the computer. 
Lab 8: Comparing Independent Means
1. (2) SExbar1-xbar2 checks out with SPSS output (unequal variance t procedure).
2. (2d) 95% CI limits for µ1 – µ2 should be close (but not identical) to unequal variance CI limits reported by SPSS.  Reason for the discrepancy: SPSS uses the dfWelch to calculate the limits, not dfcons.
3. (3b) The hand-calculated t statistic should match the SPSS unequal variance t statistic.
4. (3c) The students should accurately place the t statistic on the curve and shade the relevant P-value AUCs. 
5. (4) Students should be aware of the difference between the equal variance assumed (“pooled”) t procedures and equal variance not assumed (“preferred”) t procedures. Have students label SPSS output showing (xbar1 – xbar2), the proper t statistic we use in class, the dfWelch (with an understanding that this will differ from dfconserv), and SExbar1-xbar2 . The P-value should be labeled with the null hypothesis tested (H0: µ1 = µ2) and the correct confidence interval limits should be labeled “95% CI for µ1 – µ2.”
Lab 9: Inference About a Proportion – skipped

Lab 10: Comparing Proportions 
1. (1) Student downloads new dataset and cross-tabulates results in SPSS

2. (2) Proportions, proportion difference, and CI for proportion difference calculated

3. (3) Hypothesis test completed

Do not do #4; do student opinion survey instead
Page 1 of 3
C:\data\hs167\Lab_Grading_Criteria.doc

